
SAP ABAP table AFRV_S_ALV {ALV Output Structure for Table AFRV}

AFRV_S_ALV

BUKRS [CHAR (4)]

GSBER [CHAR (4)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

AUFNR [CHAR (12)]

KSTRG [CHAR (12)]

POSNR [NUMC (8)]

NPLNR [CHAR (12)]

KDAUF [CHAR (10)]

EBELN [CHAR (10)]

EBELP [NUMC (5)]

LSTNR [CHAR (18)]

LTLST [CHAR (6)]

SBUKR [CHAR (4)]

SGSBR [CHAR (4)]

SKOST [CHAR (10)]

LSTAR [CHAR (6)]

OTYPE [CHAR (2)]

PKNUM [CHAR (7)]

BEMOT [CHAR (2)]

ASMD

MANDT [CLNT (3)]

ASNUM [CHAR (18)]

 AFRV_S_ALV-LSTNR = ASMD-ASNUM 
0..N

0..N

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 AFRV_S_ALV-AUFNR = AUFK-AUFNR 

0..N

0..N

 AFRV_S_ALV-NPLNR = AUFK-AUFNR 0..N

0..N

CKPH

MANDT [CLNT (3)]

KSTRG [CHAR (12)]

DATBI [DATS (8)]

 AFRV_S_ALV-KSTRG = CKPH-KSTRG 
0..N

0..N

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 AFRV_S_ALV-KOSTL = CSKS-KOSTL 
0..N

0..N

 AFRV_S_ALV-SKOST = CSKS-KOSTL 0..N

0..N

CSLA

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

LSTAR [CHAR (6)]

DATBI [DATS (8)]

 AFRV_S_ALV-LSTAR = CSLA-LSTAR 
0..N

0..N

 AFRV_S_ALV-LTLST = CSLA-LSTAR 0..N

0..N

EKKO

MANDT [CLNT (3)]

EBELN [CHAR (10)] AFRV_S_ALV-EBELN = EKKO-EBELN 0..N

0..N

EKPO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

EBELP [NUMC (5)]

 AFRV_S_ALV-EBELP = EKPO-EBELP 
0..N

0..N

PKHD

MANDT [CLNT (3)]

PKNUM [CHAR (7)]

 AFRV_S_ALV-PKNUM = PKHD-PKNUM 

0..N

0..N

PRPS

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

 AFRV_S_ALV-POSNR = PRPS-PSPNR 

0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 AFRV_S_ALV-BUKRS = T001-BUKRS 

0..N

0..N

 AFRV_S_ALV-SBUKR = T001-BUKRS 

0..N

0..N

T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

 AFRV_S_ALV-OTYPE = T778O-OTYPE 

0..N

0..N

TBMOT

MANDT [CLNT (3)]

BEMOT [CHAR (2)]

 AFRV_S_ALV-BEMOT = TBMOT-BEMOT 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 AFRV_S_ALV-GSBER = TGSB-GSBER 

0..N

0..N

 AFRV_S_ALV-SGSBR = TGSB-GSBER 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 AFRV_S_ALV-KOKRS = TKA01-KOKRS 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 AFRV_S_ALV-KDAUF = VBUK-VBELN 

0..N

0..N


